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cos2a +sin2a=1
sina
tga=m
cos a
cos a
ctga = -—--
sina
tgamtga =1

tga =
J ctga

ctga =
tga

l+tg2a =
cos2a
1+ ctg 9a = — 1
sin a
sin(a+p)=sinamosp +cosa mwinp
sin(a- p) = sinamosp - cosa minp
cos(a+p) = cosa mosft- sina minp

cos(a- p)= cosamosp +sina minp

tg@+fi)="=x M L

1-tga-tgp
tg(a-p)= ,ga- ,ofl

I +tga-tgp
cg{fa+™ af ~ - 1

ctgp + ctga

Qr(«-/?)=c<gac +l
ctgp - ctga

sin2a =2sina mos a
cos2a =cos2a-sin2a
cos2a=2cos2a- 1
cos2a =1- 2sin2a

92a=1q_tg" a

ctg a-|
ctg2a = g
2ctga
. a 1-cos a
sin-
a | +cosa
coS —
2
a sina 1- cosa
&-5 ~ 1+cosa sina
a sina 1+cosa
cs - ="

2 1-cosa sina
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sina +sih B=2sin
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2
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§_~ a+B a-B
cosa +cos B= 2cos---é---c 0s r

~ o a+ .
cosa- cosB=-2 sm---é-—osm---é-—

tga +tgP = --S‘-lf‘i(-"i‘-TEB-
COS a oS p

tga - tgP = o Bl
COS a KOS P

*» «=1(l-a»2a)
cos2a = (I +cos2a)
sinamosa =?sin 2a

(sina +cosa)2=1+sin2a

sinamosP  {sin{a +P)+sin{a- /?))

cosamos =~ {cos{a+p)+cos{a- /?))

sinaminp = (cos{a- p)- cos{a+/?)

sinx =a; p|<I
x=(-1)”arcsina+mm ne Z
cosx =a; \a<1

X =xarccosa +2’m, n&Z
tgx =a

X =arctg a+>i, n&Z

ctgx =a

X =arcctg a +>q1, n&Z
sinx =0

X =>4, N&Z

cosx =0
X = =——bxn, n<=%7
sinx =

X =?+2>|<r|, uG 7z

cosx =\
X =2k, n&”Z
sinx = -1

=—2+2>KI'I, nGz

cosx =-1
X =XK+2K1, n"Z
cos(- x) =cos x lg(- x) =-tg x

sim(- x) = - siinx 'tg{-x) =-ctg x



